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it éﬂ A if ((data!=0) && (item/data)>10)) { }
i ¢ B:if ((datal=0) & (item/data)>10)) { }
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#include <iostream>
using namespace std;

void swapl1 (int c, int d){

c=2;
d=3;

§

void swap?2 (int *c, int *d){
*c=2;
*d=3;

§

void swap3 (int &c, int &d){
c=1;
d=2;

§

int main() {
int vall=5, val2=10, a=0, b=0, ¢=0;
swapl(vall, val2);
a=vall+val2;
cout << "a=" << a;

swap2(&vall, &val2);
b = vall+val2;
cout << "b="<<b;

swap3(vall, val2);
¢ = vall+val2;
cout << "¢=" << ¢;

return O;

}
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A. 23 % #ix(global variable)
B. % # % #c(local variable)
C. # it % #(static variable)
2) FRIREFTAHCES AN éﬁﬁ%} J s B o
#include <stdio.h>
int x=3;
void funcA(){
int Xx=66;
printf("Local x in funcA is %d .\n", x);
X+=2;

}

void funcB(){
static int x=88;
printf("Local static x in funcB is %d .\n", x);
X+=2;

}

void funcC(){
printf("Global x in funcC is %d .\n", x);
x+=2;

}

int main(){
funcA();
funcB();
funcC();
funcA();
funcB();
funcC();

}
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class CA{
int instanceX = 10;
void instanceMethod(){
System.out.println("CA instanceMethod");
h
b

class CB extends CA {
int instanceX = 20;
void instanceMethod(){
System.out.println("CB instanceMethod");

}
3 h

public class PolyTest{

static int 1;

static String str;

public static void main(String[] args){
System.out.println(i);
System.out.println(str);
CA b =new CB();
b.instanceMethod();
System.out.println(b.instanceX);
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